Unit 2 6.3 Applications of Functions and Sequences Name: ‘(C_%,_ - 1

1. Allen is on the football team this year but he has poor time management skills. His mother told
him that he is off the team if he fails anything in school. On his first math quiz he earned a 90,
then he earned an 86 and an 82 on his next quiz.

a. lIs this discrete or continuous? discrete (Co.n-(— Ihave par‘ho.l CBM %C.S)

b. Is this arithmetic, geometric, or neither? axi—l:lq meti C 4 -4
c. Write an equation for the function. O_n = Q0 -4 (”"l) QO, €6, <2 a, "'7)
=44 -dn O,

d. Find £(7). F(1)= 94 - ‘f(’7

F£y=94-dx
- aﬂ

e. Explain the meaning of your answer.

tn the T test Allen received o score 0

f. Find xif f(x) = 5% f_)(’;ﬂ
58 =

94 -4«

. Explain the meaning of your answer. — w)
g. Expla 1 the m; gofy on the 9% 4est Allen {

?&é 0. Score of 58 %. Means Allen is oFF +he team.

£ Ll

2. A recovering heart attack patient is told to get on a regular walking program. The patient is
told to walk a distance of 5 km the first week, 8 km the second week, 11 km the third week and
so on for a period of 10 weeks. The equation for this scenario is given below.

dlw) =2+ 3w
a  Findd(). 2+3(7) =

[23]

b. What does this value mean in the context of the problem?

+he Pa—lrfén{ Lol Ks 3 Um he T+ LdeeK

C. If d(w) = 29, what is w? 29 = A+ 30
iu>=9)
d. What does this value mean in the context of the problem?

+he 9t (veek the petient WelKs 9 Ko
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3. If groceries now cost Mr. Belby $275 per week, he predicts that the cost will increase 10% per
year due to inflation AND his 3 growing boys eating more and more each year.

a. Is this discrete or continuous? d isere e g l!)(m“t ust potr{-so.l wcd@)
b. Is this arithmetic or neither?

X
c. Write an equation for the function. ‘F(x) = 275 % (I/)

d. Find £(10). #7 13. 2% , 275»*(,',)"’

e. Explain the meaning of your answer.

. . er we&z
(N yeor Ib, groceried Wil cort 9713.2¢ p

f. Find x if f(x) = $535.90. _~ 7 533,90 * 275*1.: *
[.Q4¥T =1.1
(3&&&5 N C,"leJ(-)

g. Explain the meaning of your answer.

grocef"es will cost ¥533.90 per Laeek
Ourouwnd year 7

4. The first year a toy manufacturer introduces a new toy; its sales total $495,000. The company
expects its sales to drop 10% each succeeding year. The equation for this scenario is given
below.

d(y) = 550000(0.9)”
a. Findd(3). 550000092 &
! u 00,980 J

b. What does this value mean in the context of the problem?

the 34 yiar, Hhe Hotal Sodes Lol be #400,9S0

c.  Ifd(y) =$292,293 what is y? 02903 293 = 596000 (.9)3
0.53144 =.99 = L

d. What does this value mean in the context of the problem?

Hhe doted Sales are 393 293 in +he (L, Yea.r



Unit 2 6.3 Applications of Functions and Sequences Name:

5. Mr. Belby buys a new BMW for $51,000 dollars. The car loses 22% of its value each year.

a. ls this o or continuous? _ NO P&f‘]-l'&'l yeosd
;
b. Is this arithmetic, or neither? _ mult / 70

100 a2 =
c. Write an equation for the function. -C(x Sf DOO -* ( 7?))( %0 ¥

d. Find £(18). _ 5|, boo-\e('zcr L ¢ 417 )

e. Explain the meaning of your answer.

. . 85¢2.41
@ ear 1¢, +he car 1S only Coorth
f. Find x if f(x) = $3316. x| 331 =5l,000¥~.78’x
.0LS0O=.178"

g. Explain the meaning of your answer.

“+he cor i Worth J‘33((‘0 ocrsvnd %&CU‘ (.

((\f'
¥ ?ZL"S 6. Mrs. Pischke loads $150 on a coffee hound gift card. She spends $8.50 at coffee hound each
Xt x> week. The equation for this scenario is given below.
(1%
? d(w) = 150 — 8.50w
a.  Find d(3). Find d(20). 1S6- €.3(3) (90 - §.5(0)
d(z)= 1a4.5 d(a0)= -20
b. What do these values mean in the context of the problem?
g =420
weeK 3 She has ¥I24.50 weeK 20 She heds o
[eft on Hhe cerd (eft —- +his mades ho senie.
c.  Ifd(w) = $0, whatis w? The Cord ron owt of cash &
. 0.
D:ISD-?,S@ W"W.Lp"f While 0—3
-1sb= -§.SV
d. What does this value mean in the context of the problem?

Cant have par*lrla[ Leeks S0 Mcs. PischKe cown
et Hhrough 11 LeeKs bu:L wont have emaujln
o e Card v the m (Jeek.
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APPLICATION
7. The figure shows the graph of T, the temperature (in degrees Fahrenheit) over one particular 20-hour

period in Phoenix as a function of time .

g.

: Define the variables:

_'l:':“g T T= 'Eamp
N t=_4time

u
4 8 n 1a 207

. ]
Is the graph a function? Explain why or why not. {€§ ;' né x hos multiple N| §

t = 0 corresponds to midnight. Estimate T(20)oand what would we mean by T(20) in context?
= §0 hour 20,50 $pm

What is the y-intercept? What does it represent in context? .
) time O, midnight, (ts (_00'
What is the highest temperature and at what time did it occur?
90° @ hr. Jb, which 18 Hpm
When was the temperature decreasing’? Why?
hr I -20, o Y4pm 4o g pm

= nighhwme cools down as Sn goes

doon

If Anna wants to go for a two-hour hike and return before the temperature gets over 80 degrees, when

should she leave? needs o be bak by hewr 10, 80 leave by
Find ¢ if T(H=70. (,

8. Swine flu is attacking Porkopolis. The function below determines how many people have swine where t =
time in days and S = the number of people in thousands.

a.

S@) =9t — 4
Find 5@ = @(4) - 32

What does S(4) represent in the context of the problem?
S(4) =32 so 32 people miected
., S
in “4 doujs

Find t when S(t) = 23
3> qt -

A

+=3
What does S(t) = 23 represent?

<3 people infected m dog 3

Graph the function.



